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fix)=12 cos x — 4 sin x.
Given that f(x) =R cos (x + a). where R = 0 and 0 = a < 90°,

(a) find the value of R and the value of a.

(b) Hence solve the equation

12cosx—4smx=7

for 0 < x < 360°, giving your answers to one decimal place.

(¢) (1) Write down the minimum value of 12 cos x—4 sm x.
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O

(1)

(1) Find. to 2 decimal places, the smallest positive value of x for which this minimum

value occurs.

(2)
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(@)
Show that
cos2x . .
——————— =cosx—smx. x#Fn-3)m nel
COSX +sInX
(2)
(b)
Solve, for 0 <8< 2m
sin 28=cos 286,
giving your answers in terms of .
)

NB Tutors Ltd, Unit 79, Capital Business centre, 22 Carlton Road, South Croydon, CR2 0BS -3-



The functions f and g are defined with their respective domains by

f(x) = x2 for all real values of x

for real values of x,

(a) State the range of f.
(b) (i) Find fg(x).
(i) Solve the equation fg(x) = 4.
(¢) (i) Explain why the function f does not have an inverse.

(ii) The inverse of gis g~'. Find g~ '(x).

x# =2

(1 mark)
(1 mark)
(3 marks)
(1 mark)

(2 marks)
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- End of Test -
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